Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -V « EXAMINATION — WINTER- 2016

Subject Code: 3350501 Date: 18-11- 2016
Subject Name: Industrial Management
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q1 Answer any seven out of ten. €2Hiell SleURL Ulclatl welled }L. 14
1.  List the types of system.
1 yRuell ot ystal atel dwl.
2.  Define Material Management.
2. HLC'R{U-DH AAAA{l cautval L,
3. Application of Organization Structure.
3. Aletsdaet Hiowwiell Aell3atot cul.
4.  Define Scientific Management.
¥,  ARESlS AdNeeell catvaul wl.
5. List the Functions of Management.
U Aol sl oll ALEL oot
6.  Give the full form of CPM and PERT.
S.  CPM ol PERT oll WL olld AW,
7. Define Float or Slack.
9. SAle AUl Asall vl L.
8.  Define Production, Planning and Control.
¢.  Wss2lel wle(lol Aal $2lct ofl cautvaul wl,
9.  Classify the waste.
¢c. oS of adllswl AWl
10.  Write the four symbols used in making the Gantt Chart.
0. dl2 AR Ul AURlAl UR Rucllds(l el catdl,
Q.2 () What are the various Inventory Model? 03
Ysl.? (1) Selddl H3cell sl s2ll B2 03
OR
(@) Explain ABC analysis. 03
(A1)  ABC Aol aulal. 03
(b)  Explain the main qualities of a good leader. 03
(W) AURL Actlotl OQRN UMl 03
OR
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Explain the objectivies of Material Management.
HIARUHIYL AALAs AL G2 UM AL
Explain Committee Organisation.

sHIZ1 BRAALETB2lot culal,

OR
Explain the concept of Scientific Management in detail.

URESls AArNe Rtuid @Qrctrell awlal.
Explain Workman’s Compensation Act.
aSNot SUAU Wse ULl

OR
What is the difference between Value Analysis and Value Engineering.

“Q3] Woll IR Wl “Ac] WylAAU” A dglald el

Give the difference between Centralized and Decentralized Store.

Y WA Q3R HIARS AAA dslald .

OR
Define morale. Explain relationship between morale and productivity.

gLl caltuaul UL A A BAUESAL ARl Aol AU
Explain ‘DARASIRI’ method of value analysis.
yeu [Qeauglell €3 utudl uxesal.

OR
Explain Industrial Dispute Act.

Sosuglaud (Bye Ase MLl

[3

Explain difference between “Line

Qs AUl 2uls W 2Ls” BRNALSTDaUot A ol dAglelcd AHestl.
OR

Explain Function of Store Keeper.

LR sluRell sl quxal.

Give advantages and limitation of Network Diagram.
oL BS(Aotl GUADN Aal HRAERA AW,

OR
Explain the function of Production, Planning and Control.

ULs$2let Welo{lol wal $21E oll s120 AUHsLA.

and “Line and Staff” Organization.

Explain Gantt Chart.
de U auldl

OR
Draw the flow diagram of value analysis.

A AelllRU oll s stauouH €L
Explain the relationship of Material Management with other departments.
HIAUHSL AUAHot WA Aol A (Aol WA Uoit AHsAl

OR
Explain the important of store in Industries.

(s AsHUHL 2R1Re{l AdLRAL YHHLAL
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wsl Y
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Explain similarities between CPM and PERT.
5252l U Aol US A ABAAL MLl
“Store is the heart of a successful Industry”’-Discuss.

details:
Acitivity u Vv W X Y Z
Days Duration 7 5 8 3 6 6
Immediate Predecessor - - U \Y/ X W)Y

o{lA RUAA (Bl HIEZ Ut olotlcll. Ul $2153l U Ul oldle:
(5au u Vv W X Y Z
UL (B aunl 7 5 8 3 6 6
qRcell yowll Gaw - - U V. X WY

Draw the network diagram and indicate the critical path based on following

“gles URL GEllol HIZ2 AHell 212 (Aeudl Gel UMt B - ([AAyslL 3.

Define factory and worker. Also explain provision for the safety and health of

the workers.

SRULollo(l WA s31oRe{l catvall A, dal SRR ofl ActHAl M

el HI2 sal usdl otaes (AN uxestAl.
Explain Factory Act 1948 in brief.
Ssedl Ase 1e¥e UHxAL
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